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50mP60MW 1 1 261/h1 BB 101.7 102.2 102.5 101.0 102.2 101.2 610.8 26
2 1 32|lEF fith 100.5 99.7 103.7 101.7 100.7 98.2 604.5 23
3 1 275 @2 94.3 100.4 98.4 100.6 98.2 99.8 591.7 16
4 1 3wE == 95.1 99.7 100.5 98.0 99.9 97.8 591.0 12
5 1 30 &7 101.3 98.4 97.3 96.0 99.6 95.6 588.2 16
6 1 28lhng = 92.0 93.0 94 .4 95.9 98.5 92.0 565.8 8
7 1 294t EF 194 19.4 |pNF

50m3X20MW 1 1 35lmiE = 85 89 91 87 55 60 467

10mS60M 1 1 20z & 98.3 103.0 102.1 99.9 991 954 597.8 23
2 1 19|85k #nE 98.3 96.4 92.8 95.0 95.9 98.2 576.6 18
3 1| 2=l mA 93.1 978 97.1 954 967 973 576.4 18
4 1 25mE 3l 97.9 93.3 94.0 95.5 94.2 94.2 569.1
5 1 24 A& g 98.5 99.5 91.0 89.5 941 89.0 561.6 11
6 1 23|k B 92.6 89.7 93.6 92.6 91.9 91.8 552.2 10
7 1 22|08 A 90.9 90.4 89.8 83.7 90.6 88.5 533.9 8
8 1 17|k = 82.4 87.6 85.1 85.7 86.7 86.5 514.0 4
9 1 18l &» 73.4 80.0 70.7 85.3 87.2 89.6 486.2 2

10mP60MW 1 1 26|4@ BA 102.4 102.3 102.9 102.5 101.1 104.2 6154

10mJS40W 1 1 30|miE =% 97.8 975 97.9 100.4 393.6




